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Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

General Intelligence

39 Asheq T gt S Al T § 38 /e
¥ Fafd § S8 gEdl §Edr ugell HEAr ¥
SEIRGR]

81:63::74:

A. 33 B. 23
C. 43 D. 13
A

T & gy & AT erer-3reeT eafaar &
AR g AT §| ‘6’ TWEAT Tt Beldh &

HHAA & ol dlell TEAT ATT HIfST|
3 ) (]
1 1) 1Y) s 12
A. 3 B. 5
C. 4 D.1
C
oA & 918 3T F et Fsger Ao &2
A. 16 B. 18
C. 14 D. 20
B

e PEAR & 7519 31K TOIL & 2693 &
9 # Flggey fhar 9 §| dr DOCTOR @r

fre g Sigagy fohar suem?

A. 463296 B. 463729
C. 463269 D. 463239
C

T $13 AT &, TABLEPADS & BADCYG-
AP] for@r Sirar g| 3¢ s & BACKSPACE

FI HY for@r Frwan?

A. DAIBJGALY
C. DEIBJGEIY
A

39 @Iy @ 9o foEd dEal 38 e
afta § o % fesfof@a g &
SV

(3, 13, 196)
A. (5, 15, 350)

C. (4, 14, 441)
A

39 fJed & waa # g8 A &
I AT ¥

B. DAIBIGAJY
D. DAEBJGAEY

B. (6, 16, 569)
D. (2, 12, 287)

§)BYJUS

L0 ]
by lQ
A B
c. ' D, —
Ans: D
8. 3Y Id 3ING & IIA i A AFAT@T et
& T & T B JIY TS SATAT &

2
©0

O

B.

D.
Ans: D

9. 3¥ [sed & ahT Y S R HeW-HHE 4
3T TRE HeOd § Sl gadl 3EN-HAg gl

eR-THg @ Haed g
LENOVO EKISSQ FINGER
A. YOLIBT B. YNIKBT
C. YOIKBT D. YOIKCT
Ans: C

10. O Rf¥aa #s & SLUMBER & PORPY-
HO & &9 & HIgacy fohar o= §| 38 s &
PURPOSE @I fhH YR wHisdey fHar

SITTaTT?
A. SRUMRPG B. QVSQPTF
C. OTQONRD D. MXOSLVB
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Ans:

11.

Ans:

12,

Ans:

13.

Ans:

14.

Ans:

15.

Ans:

16.

Ans:

D
aArer &1 918 it 7 R@T AV AR wh
FETST HI AT 3R Frer Jar §| I§ FETS

el ] Hd @S Sam?
s
..-El---- L po--ld A

A. B. A
C.Sl_é} D_Sl_é}

C

ofeT wEaT3t & aait @ AeT 336 ¥ 3R Tger
3R a1 U IR Iy qUr A

3eqare 1 : 2 g o el iR ggel dear &
ST T 3R AT X2

A. 12 B. 16

C. 10 D. 14

A

AR IR &3t & 9 A9 §&9T s
fAfead aF & v Y § AR T 3rerT g
3T 39T AT &l IIA HITAT|

A. 3864 B. 6394

C. 2936 D. 4638

B

W’ B FEY AR’ F I R § oW
‘FOTHAR’ FT Jae "TE

A. oIRT B. FaId

C. 3 D.E

B

0 37eRT & GASTT 1 T HY ol 6 & 1S
3ER @l & Refdd T F HiAT §7 @ @

STTe O ST ST R FHM|
ab_bcab_b__ab_bcab_bc
A. ddcdd B. dcdcd
C. cdcdc D. ccdcc
A

aMarer 1 3 e FEar & e g o av
UEe 3HA! Y fohell Hear i qdt | 3@

3 foheet &7

A. 64 B. 27
C. 62 D.9
A

17.

Ans:

18.

Ans:

19.

Ans:

20.

Ans:

21.

Ans:

22,

§)BYJUS

fAFfaf@d J@er & Red Tu= & 1= &
fore faeredl # & Té TEar 1 Tua |

3, 27, 243, 2187,

A. 13561 B. 21377

C. 19683 D. 27139
C

freafaf@a s@en 7 Hia-dr dear vea et
(?) & ¥UT 9T 3Uai?

4, 10, 27, 140, ?

A. 97 B. 397
C. 937 D. 379
A

39 g @ go oA deae 38 e
gafta § o i fefaf@d ageeg &
S —
(8, 101, 35)

A. (9, 121, 39)
C. (6, 76, 27)
B

B. (7, 89, 31)
D. (11, 136, 47)

39 AE-IA T TTA B fEH aF ereg 3
RE @ T § S Tefaifld erg-g7a &
ar ereg; Fefed g

Aeret : et

A. UG : gee B. dey : e

C. Jod : 3TeRT D. frat : 331

D

39 A 1 =T AL S A & 78 sl
HGll H 3HaTel AT T 3|

@ Al ol O 3EHa <
< o3 0 A ©

90 Al el Ol 3

© A Y,
< A
3 V2 &) <
A. B
I < < @
Y 3t
v, A
C. = = D.
A
SIS Ueh EUOT &l 3T & &T8 31X 381 S ot
few v T i FEY 9T BT F TIA Y|
=]
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Ans:

23.

Ans:

24,

Ans:

25,

Ans:

Ans:

A. B
cC—— D."
A

AT IR 3eR-THgl # § e 3eR-
g & ARad AF F W E R
37T 8| 3 3T 3eR-THg T IfAT|

A. UQJF B. AWDZ
C. IDWS D. OKPL
C

If& MARBLES &7 181132192512 & & &
FIsdcy AT Srar § 3R INVITED &t
221969942520 & ¥9 F Hisacy fmar srar
g, dI COMPARE & &8 wisacy faar
SATT?

A. 1312531653241 B. 1322531253221

C. 1322531652241 D. 1322531653241
D

Rff@d usel #1 arfes 3R @rds w7 &
gafedd #|

1. aRom 2. YR AfAAeT
3. Uy 4. FATHIST

5. AdGrT

A.5,2,4,1,3 B.54,2,1,3
C.4,52,1,3 D.4,2,5 1,3
D

General Awareness

JofAer $efad 1 PR@a & F &g
fafaf & 378 et T dgaR THS e
A H Ace ol 3R Hdd: et & o5 &
faser & fav aRa fFar?

A. & H Ret

B. g3HaRY el

C. gder 33

D. R 9 HFIH

C

AS 2019 H % &g WHR & A9YT JGUT &
are, fAefaf@a # @ fhg & a1 Frwa
3R W A=rera/fHmeT 3ndfes fhar arar ar?
A. fRYer Rsfrsg B. €Ffd s=h

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

10.

§)BYJU'S

C. & FelERaT
A

TATITE gTHaT fohd aTel o 31eTeT 82
. ol STererfera aret

. FHATSIETET gTet
.aga?rm\—:rtrr&

D. 9dIq dg ArEl

>0 0w >

fArfaf@d # & Hle-8r A7 ‘gfaror e’ &
a1 & ufley 82
A. JMerady

C. Foor
A
72ai aIif¥e @9 fhed #Hglcga 2019,

# 3mafara forar = an|
B. ¥

D. ZeTses fharsH

TORIT & YleY  GaReEer A
i@ & & fohd o1eT & fha e 872

B. 9RAR
D. qameteT

A. 3coll
C. %

n -

A. A B. s#ar
C. dredr D. &Y
D

fAeAfafaa # & fhg eX # gfaw da 3w
32T 1 HTITT §7?

A. FTeleTr B. Hes

C. J@dx D. HIEAR

B

1872 #, $IRT & I dfs AAY Y gar
# &y s o

A. &a B. 9iC selRR

C. feeelr D. ST

B

In the context of international banking

transactions what is the full form of

SWIFT

A. Society for Worldwide International
Financial Telecommunication

B. Society Worldwide Interbank Finan-
cial Telecommunication

C. Society for Worldwide International
Financial Transactions

D. Society for Wireless International
Financial Transactions

B

R Ol A FeEe diffe & T F7
gifiehed T & faw A & fhg deq &t
faeIATT gl 31aeas 872

A. 3rAfear B. reiel
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Ans:

11.

Ans:

12,

Ans:

13.

Ans:

14.

Ans:

15.

Ans:

16.

Ans:

17.

Ans:

18.

C. S/&ar D. 3R

B

HglcAT I & AT HiT oAi?

A. ERETS B. qeieiiaTs
C. HHAAES D. FESETS
B

FHTYCT I HTNT A, RAM T 0T §9 7 872
A. X3 wFaE AR

B. =# wraw AAl

C. WeR | #A

D. Rfafes vardw AaRY

B

farafaf@a & @ FF 9oR & &% @a |
TTAT YR Y IS SATST A8T [HeAdT &7

A. JTadl SAT@ar B, =T Tiell

C. et @rer D. §gd @rdr

B
fefaf@d & @ #la-ar d g aies sl
el & forT iR ar?

A. 3TSAITSHNS Foh

B. TISIUHET dh

C. AR T §&

D. HRURAA dF

C

2019 & WIhEST YA & 96 foeA T iEd &
O ARl HIF AT el HT AAdT oIl 1T
qr?

A. i IR B. @ifaar amefly
C. rgef el D. aAfcehre @
B

Afgelisrees H AdRAT GaRT THH Fogd
SIST @ 3rclepa fohE T & @IS HY TgaAT ST
g2

A. T STel/ellel B, WA sfelt/aArel
C. drds /a0 D. Hhe/Eeshn Tha
D

AT Yo, TRIRT & B 3R AR STorarg
qRadd FRGdT e #§ 8 g

JUY 321 4 872

A. g B. sfeea#d
C. fhelels D. SHaAT
A

fHsR 2016 &, AT THTH HIRURLI 3TH
ST A U ASTge spTAT 00 R
togemaE g

A. SIaT&h (STTUATS)

Ans:

19.

Ans:

20.

Ans:

21.

Ans:

22,

Ans:

23.

Ans:

24.

Ans:

25.

Ans:

§)BYJU'S

B. el (TAUHYT)

C. s (fvasmses)
D. TS (STTAL3E)

C

JerETdY QER R Te 7 ya g2

A. FATcHh B. &l

C. IR D. dfAe=Ig

A

g7ois # ST g &9 2019 Wkl arelr
AR EF T 3URTAT hieT §7?

A. gIféah argar B. TH TH el

C. Afea e=m D. RRr@ER eraet

C

qEAGe A S 2019 # FFls A ST
Geg FT 2019 F T Ugar T A
T g AT

A. ETaToT 313hreRT

B. drfehecrat
C. =gireius D. a¥< g3
A

124 af g {99+, 2019 Fad gafaq
g2

A. feger e

B. 3% 31Refor

C. T3X 331 &1 AT

D. Sfruwer

B

frfatad It # @ e 3 6 7w, 73 v
373 ¥ 37T & FATT gt 872

A. ETE3IST Howlss

B. SEAUICATSFollghdeT

C. 3A=ar

D. Tl
A
SiAeH @ 3R I AT Afr AR el

& fArfaf@d Adas & # @ fFa a7 &

2019 T chrdeT AT ST AT?

A. BE B. HIfS®g
C. 3fearedy D. fagasiaqia
D

TP T gfaar & *Ubuntu’ &m 872

A. STHRIRAT FT Adddd AT e
Yehot

B. SAP &1 U& ERP YuTrell

C. 3= Oy foeed A& Reen

D. ATgHAFe garT faefad wRRaS

C
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Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Quantitative Aptitude

243x% + 242y° = (2\/§x + \/Ey)
(Ax2 + Bxy + Cy2) &, ar (2A+\/€B—C)

K.CIES

ERIETE
A. 6 B. 8
C. 10 D. 14
C
e i3

W+sin271°+cos71°sin19°}
€0S” 24° + cos” 66°
T XA AT &

A. 3 B. 0
C. 1 D. 2
D

A 3R B T acTHTeT 3g &M 3T 6 : 5 &
R ¥ 94, Ig A 5 : 4 U1 39 @ 12
asf & ae A 3R B & MY & AT F4T
gram?
.8:7 B.7:6
.9:8 D.3:2

oNeP4

T SR Gl H g o6 &ahel AR
3T Haen: 132 m2 3R 528 m3 §| o
$r FAS (m 7)) FAT R?

(n = 22/7 A)

A 21
2

3
@
N

C. 3

o
w
N|l= oo|lul

8
B
3 cosec 31° = x & @
1

+ tan2 59O . Ol=re— 5
sin“59°cosec59°

sin? 59° +

cosec?31

TN §:

A x2+1
C.x+1
B

foelt =gsist ABCD & efif A, B, C 3iR D
T gd W U §| £A, £C 1 faapa § 3k
£D, /B &1 &[T §| «B 3R £C & AT &

B.x2-1
D.x-1

FIT 3R §?

A. 18° B. 20°
C. 28° D. 16°
D

& 9147 €3 3T (IR 7%) _Affewr avt #
Th Tho & A IR wen &4 &
ezt fr FEar #r gefidr

Ans:

Ans:

Ans:

10.

Ans:

11.

HEHE

400 375

350
325 320
300
300 25 280
250

250 25
200
150
100

50

0

2011 2012 2013 2014

Years

325

u Science
u Arts

Number of students

2015

2011, 2013 3R 2015 # Farr & eyt
& ol TEEr, u v g ant F A &
et & fFast wfdea &7 § (&

EAFT TUTT deh TeN)?

A. 34.2% B. 32.8%
C. 33.65 D. 31.4%
C

PAT forell g & fdig A W U Taeia §, 3l
AB 3T g U oirar & fF ZBAT = 72° §]|
3R g W T foig C 38 e ¢ & ZCBA =
58° &, dr LCAB &1 AT 7 §?

A. 62° B. 48°
C. 50° D. 60°
C

. 7,500 T AR veh e ari¥er wshaefer
ST &YX W 2 a¥ & 91 96 . 8,748 &

STl ] e B < o A A 42
a¥ & fau 3@ U W AuRer s w4

grem?

A. . 4,140 B. %. 2,760
C. %. 8,180 D.%. 5,520
D

3BT 3 A & B Framr 80 km/h & 3itaa
afd @ | 3EA YA 75% g F -
faers o 7 au R 3k Aw g x km/h
T 3R AT F aT | X T AA &

A. 54 B. 56
C. 60 D. 64
C

fGam = g3 IR (IR ) faffes asf
Th T & AR R wmem & &
ezt & Fear @ geifdr B
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Ans:

12,

Ans:

13.

Ans:

14.

8

u Science
u Arts

Number of students

g

350
325
300
250

20012 2013

375
320 325
275 280
2350 225
2
150
50
0
2011 2014 2015

2011 3R 2015 & faaeT & ezt $r
Fol WEAT F 2012 R 2015 & Far &F

Years

et T T Tear & AT 37U 82
A.9:10 B. 11:12
C.12:13 D.8:9

C

80 Tacanfdt & e #, 60% facard @a
# 19T o § 3R arehr A€ Wi 8| g arel
THE F A Tl STg aTe FHg AT Jelelr
H 5% 30F §| 3R asfr et @

sirae ot 51%kg &, A vger arer W

3 aote (kg &) a7 82

A. 60 B. 54.5
C. 52.5 D. 57.6
C

&1 3147 €3 3IMW (IR Ih) Affewr auf &
Th Tl & e 3R For &F &
feznfdiat r dear 1 gefidr B

400

™
el
s

#

@
§

= 250

% 200

s u Science
‘E 150 u Arts

E

ES T

w
3

375

350

325 320 325
300
275 280
250
0

2011 2012 2013 2014 2015

Years

2011, 2013 3R 2015 # fa= &
faeaiat v sitea dear 2011 & @enm &
facaRiat i dear ¥ frder gfdera sifes 82

A. 11 ;é; % B. 8 é;; %
C. 9 -55-‘34) D. 9 -!1- %

11 11
D

3IRa+b+c=43Rab+bc+ca=
18 aad+b3+c3-3abcHATE:

Ans:
15.

Ans:
16.

Ans:
17.

Ans:
18.

Ans:
19.

BYJU'S

EXAM PREP

A. 47 B. 60
C. 50=2 D. 50
C

AABC #H, /B 3R £C & dA-gfases -
ge &1 fd§g D W #ed §| 3R «BDC =

104° &, @ ZAHram §:

A. 28° B. 26°
C. 32° D. 30°
A

et fAataa & & 40% #FdeEr, ass
ARRE & aRse APRE Adeanst § F
40% foReR § 3R 25% IR-aRss AreRe
Aderar aeR g fReR R-aRss amie
ACIA3T & Jofat # @eR aRss AvRe

AdeTdr3tt $r & forder gfaera & 72
1

A. 50 B. 48=
3

C. 40 D. 462
3

D

f&ar = &3 3@ (SR o) Affes oot &
Th T & AR R @wem &F &
faenf@iat fr dear #r gafar 3

375
350
325 320 325
300
275 280
250
25
u Science
u Arts
2011 2012 2014 2015

fFe a¥ & war & faeanfit & dear faae

00
350

8

o
G
S

Number of students
- gy
g 8

s & &
a8

w
3

0

Years

Y JereT 7 30% & TR g2
A. 2013 B. 2012
C. 2011 D. 2014
B
3x2+0of1l2-3+2x(2-3)x2+
3 T AT §:
1 2
A 2= B. -3=
3 3
2 1
C. 3= D. -2=
3 3
C

ABCD T& wshg uqelel & forad AB s8R
S g T I § duT LADC = 158° &, dr

/BAC U §:
A. 50° B. 38°
C. 40° D. 68°
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Ans:

20.

Ans:

21.

Ans:

22,

Ans:

23.

Ans:

24,

Ans:

25,

Ans:

D
3R 3sin® = 2c0s20, 0° < 6 < 90° &, ar
(tan 6 + cosO + sing) &T AT &:

A 5V3 g 53
6 3
C. 3+5«/§ D. 3+5«/§
6 3
C

30R &t 37t T AT 8175x45y2 TEAT 72
TR &, @y & 3¥Fa" A9 F v
Jax+y FT A= E:

A. 8 B.
C.6 D.
D

A, B 3R C us & & HA: 42 @A, 84
feer 31T 28 foaT & QU & Hhl §| A A FAH
& fhar| 3 A a1g B 38k A1y 3 1|
30X A YE gl & 5 et ae C o 3o
| 3T, o HIH Q8 b A F el o
FIH TRar?

4
5

A. 15 B. 17
C. 18 D. 20
B

AABC #, AC 3 AB 37am3it o D 3R E g
FAT: 39 W & & ZADE = /B | 3¥R
AD = 7.6 cm, AE = 7.2 cm, BE = 4.2
cm 3R BC = 8.4 cm §, d DE sRIsX &:

A. 7.4 cm B. 5.6 cm
C. 5.8cm D. 6.3 cm
B

SIS U gFJ 1 F. 291 H &r ST g,
3% T gIfer gl §| 3R 57 8% & o W
ST ST §, @ a&q T Tasha o a1 gam?

A. % 308 B. . 324
C. %. 316 D. %. 332
B

1 1

- =secOxk, 0° <
secO—-tan® cosH

0 <90°%, @ k IR &:

A. coseco B. coto
C. tano D. sind
D

English Language

Select the most appropriate antonym
of the given word.

INORDINATE
A. reasonable
C. exorbitant

B. extreme
D. undue

Ans:
2.

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

§)BYJU'S

A

Select the wrongly spelt word.

A. curry B. curious

C. cursore D. curse

C

Given below are four jumbled sentenc-

es. Out of the given options pick the
one that one that gives their correct
order.

A. In the opening scene, the young boy
Pip meets an escaped convict in a
graveyard.

B. ‘Great Expectations’ is a novel by
Charles Dickens.

C. The novel is set in Kent and London
in the early 19th century.

D. It depicts the personal growth and
development of an orphan named
Pip.

A. CBAD B. DCAB
C. BCAD D. ABCD
C

Select the most appropriate option to
substitute to underlined segment in the
given sentence. If there is no need to
substitute it, select No improvement.

He tried to prevent his friend to
smoke.

A. smoking

B. from smoking

C. to smoking

D. No improvement

B

Select the most appropriate synonym
of the given word.

CURRENT

A. old B. antiquated
C. uncommon D. present

D

Select the word which means the same
as the group of words given.

Impossible or extremely difficult to un-
derstand

A. Inevitable

B. incomprehensible

C. incompatible

D. inaudible

B

Select the most appropriate word to fill
in the blank.

There were not enough tinsmiths Is

Vienna to the lanterns for
street lighting.

A. compose B. execute

C. manufacture D. accomplish

C

Select the wrongly spelt word.
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Ans:

Ans:
10.

Ans:
11.

Ans:
12.

Ans:
13.

Ans:
14.

Ans:
15.

A. satallite B. session
C. satiate D. settle
A

Select the most appropriate meaning of
the given idiom.

Bite your tongue

A. be impossible to be understood

B. get bruises in the mouth

C. talk for a long time

D. stop yourself from saying something
D

In the sentence identify the segment
which contains the grammatical error.

Billionaire Philip is the owner of the
luxury yacht Lionheart, which worth an
estimated $150 million.

A. an estimated $150 million

B. Billionaire Philip is

C. which worth

D. the owner of

C

Select the word which means the same
as the group of words given.

a type of dome-shaped shelter built
from blocks of solid snow

A. igloo B. wigwam
C. chalet D. hut
A

Select the most appropriate antonym
of the given word.

JEOPARDIZE

A. imperil B. hazard
C. threaten D. protect
D

Select the most appropriate meaning of
the given idiom.

tit for that

A. to reward people for the good done
B. to take advantage of someone

C. to make someone angry

D. to do harm as done to you

D

In the sentence identify the segment
which contains the grammatical error.

On September 11, 2001, two hijacked
aircrafts crashed to the World Trade
Centre in New York.

A. On September 11, 2001

B. World Trade Centre in New York

C. crashed to the

D. two hijacked aircrafts

C

Select the most appropriate word to fill
in the blank.

lﬂBWUS

Municipal corporations have started to

take of the problems of waste
management.
A. perception B. cognizance
C. attention D. knowledge
Ans: B

16. Given below are four jumbled sentenc-
es. Out of the given options pick the
one that gives their correct order.

A. One fine morning, a hunter was get-
ting ready to go hunting.

B. He pulled the blanked over the
sleeping child.

C. As he did so, he thought the blanket
was not warm enough.

D. Before departing, he went to see his
little baby who was sleeping in a

crib.
A. DCAB B. CBAD
C. ACBD D. ADBC

Ans: D
17. Select the correct indirect form of the
given sentence.

The shopkeeper asked me, “Where is
your car?”
A. The shopkeeper asked me where
was my car.
B. The shopkeeper asked me where is
your car.
C. The shopkeeper asked me where my
car is.
D. The shopkeeper asked me where my
car was.
Ans: D
18. Select the most appropriate option to
substitute the underlined segment in
the given sentence. If there is no need
to substitute it, Select No improve-
ment.

The boys were delighted on the idea
of going to Goa.

. at an idea of

at the idea of

on an idea of

. No improvement

DUNwW>

Ans:
Comprehension:

In the following passage some words have
been deleted. Fill in the blank with the help
of the alternatives given. Select the most
appropriate option for each blank.

Trade on the New York Stock Exchange was

(1) to a standstill on an autumn day
(2) 1994. The culprit for the outage
(3) a squirrel that had chewed

through a power line near the computer cen-
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tre of the (4) in Trumbull, Connecti-
cut. The shutdown (5) lasted for
half-an- hour, resulted in the NYSE operating
at 85 percent capacity.

SubQuestion No: 19

19. Select the most appropriate option for

blank No. 1.

A. brought B. happened

C. taken D. worked
Ans: A

Comprehension:

In the following passage some words have
been deleted. Fill in the blank with the help
of the alternatives given. Select the most
appropriate option for each blank.

Trade on the New York Stock Exchange was

(1) to a standstill on an autumn day
(2) 1994. The culprit for the outage
(3) a squirrel that had chewed

through a power line near the computer cen-
tre of the (4) in Trumbull, Connecti-
cut. The shutdown (5) lasted for
half-an- hour, resulted in the NYSE operating
at 85 percent capacity.

SubQuestion No: 20

20. Select the most appropriate option for

blank No. 2.

A. at B. in

C. by D. on
Ans: B

Comprehension:

In the following passage some words have
been deleted. Fill in the blank with the help
of the alternatives given. Select the most
appropriate option for each blank.

Trade on the New York Stock Exchange was

(1) to a standstill on an autumn day
(2) 1994. The culprit for the outage
(3) a squirrel that had chewed

through a power line near the computer cen-
tre of the (4) in Trumbull, Connecti-
cut. The shutdown (5) lasted for
half-an- hour, resulted in the NYSE operating
at 85 percent capacity.

SubQuestion No: 21

21. Select the most appropriate option for

blank No. 3.

A. was B. has

C. were D. is
Ans: A

Comprehension:

In the following passage some words have
been deleted. Fill in the blank with the help

10
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of the alternatives given. Select the most
appropriate option for each blank.

Trade on the New York Stock Exchange was

(1) to a standstill on an autumn day
(2) 1994. The culprit for the outage
(3) a squirrel that had chewed

through a power line near the computer cen-
tre of the (4) in Trumbull, Connecti-
cut. The shutdown (5) lasted for
half-an- hour, resulted in the NYSE operating
at 85 percent capacity.

SubQuestion No: 22

22. Select the most appropriate option for

blank No. 4.

A. town B. bank

C. store D. exchange
Ans: D

Comprehension:

In the following passage some words have
been deleted. Fill in the blank with the help
of the alternatives given. Select the most
appropriate option for each blank.

Trade on the New York Stock Exchange was

(1) to a standstill on an autumn day
(2) 1994. The culprit for the outage
(3) a squirrel that had chewed

through a power line near the computer cen-
tre of the (4) in Trumbull, Connecti-
cut. The shutdown (5) lasted for
half-an- hour, resulted in the NYSE operating
at 85 percent capacity.

SubQuestion No: 23

23. Select the most appropriate option for

blank No. 5.

A. who B. whom

C. what D. which
Ans: D

24. Select the correct passive form of the
given sentence.

The Japanese Emperor Akihito abdicat-
ed the Chrysanthemum Throne in April,
20109.

A. The Chrysanthemum Throne is abdi-
cated by the Japanese Emperor Aki-
hito in April, 2019.

B. The Chrysanthemum Throne has
abdicated by the Japanese Emperor
Akihito in April, 2019.

C. The Japanese Emperor Akihito was
abdicated by the Chrysanthemum
Throne in April, 2019.

D. The Chrysanthemum Throne was
abdicated by the Japanese Emperor
Akihito in April, 2019.

Ans: D
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25. Select the most appropriate synonym
of the given word.

ADHERE

A. detach B. release

C. ignore D. comply
Ans: D
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